00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

(L/1



10+3000°G = TVAYILNI dNOLNOD

apnubuo)
(1sea saalbap)
09¢ 0¢s 00¢% 0/ v 0L 08l 06l oclL 06 09 0¢ 0
0 06—
0ol 09—
00C
0%-
00% W
o £
Qo
007 @
0%
006
09

(yuou soalbap)

(L/C



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

(L/%



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

C(L/¥



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

(L/G



10+3000°G = TVAJ3ILNI dNOLNOD
apnubuo)

(1sea saalbap)
09¢ 0¢s 00¢% 0/ v 0L 08l 06l oclL 06 09 0¢ 0

00l 09—

00¢

05—
00S =
0o £
S
007 L
0s
005
09

(yuou soalbap)

(L/9



10+3000°G = TVAJ3ILNI dNOLNOD
apnubuo)

(1sea saalbap)
09¢ 0¢s 00¢% 0/ v 0L 08l 06l oclL 06 09 0¢ 0

00l 09—

00¢

()
i

00%

apne|

00y
0%

004
09

(yuou soalbap)

(L/1



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

(L/8



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

(L/6



10+3000°G = TVAYILNI dNOLNOD

apnubuo)
(1sea saalbap)
09¢ 0¢s 00¢% 0/ v 0L 08l 06l oclL 06 09 0¢ 0
0 06—
0ol 09—
00C
0%-
00% W
o £
Qo
007 @
0%
006
09

(yuou soalbap)

cL/ol



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

CL/LL



00l

00¢

00%

00y

004

(1sea saalbap)
09¢

0%

10+3000°G = TVAYILNI dNOLNOD

apnubuo)

09-

()
i

apne|

0%

09

(yuou soalbap)

cL/clL



